

SEQUENCES WITH A CHARACTERISTIC NUMBER

IRVING ADLER
North Bennington, Vermont

1. A Fibonacci sequence $a_0, a_1, a_2, \dots, a_n, \dots$ is called a Fibonacci sequence if it satisfies the recursion relation

$$(1) \quad a_{n+2} = a_{n+1} + a_n .$$

A well-known property of such a sequence is that there exists a number α such that

$$(2) \quad a_n a_{n+2} - a_{n+1}^2 = (-1)^n \alpha$$

for all $n = 0, 1, 2, \dots$. The number α is called the characteristic number of the sequence [1]. The purpose of this paper is to explore the significance of the characteristic number [2] and to identify all sequences that have a characteristic number. We shall consider only sequences of rational numbers.

2. We call a sequence geometric if there exist numbers a and r such that

$$(3) \quad a_n = ar^n, \quad n = 0, 1, 2, \dots .$$

If a sequence is geometric, then

$$(4) \quad a_n a_{n+2} - a_{n+1}^2 = 0, \quad n = 0, 1, 2, \dots .$$

Conversely, suppose Eq. (4) holds. If $a_n \neq 0$ for all n , then

$$(5) \quad \frac{a_{n+2}}{a_{n+1}} = \frac{a_{n+1}}{a_n}, \quad n = 0, 1, 2, \dots .$$

Then the sequence satisfies (3) with $a = a_0$, and

$$r = \frac{a_1}{a_0}.$$

If $a_n = 0$ for some n , then by Eq. (4), $a_{n+1} = 0$. If $n \geq 2$, then by Eq. (4),

$$a_{n-2}a_n - a_{n-1}^2 = 0,$$

and $a_{n-1} = 0$. Hence, if $a_n = 0$ for some n , then $a_n = 0$ for all $n = 1, 2, 3, \dots$. That is, either every term of the sequence is 0, or only a_0 is not 0. In the first case, the sequence satisfies Eq. (3) with $a = 0$, and r arbitrary. In the second case, it satisfies Eq. (3) with $a = a_0$, and $r = 0$. Therefore, a sequence is geometric if and only if it satisfies Eq. (4). Equation (4) is a special case of Eq. (2) with $d = 0$. Since Eq. (2), with $d \neq 0$ represents a minor deviation from the typical behavior of a geometric sequence, we shall call any sequence satisfying Eq. (2) with $d \neq 0$ a parageometric sequence.

3. We shall call a sequence almost geometric if it is not geometric, but there exist numbers r_n such that $a_{n+1} = a_n r_n$ for $n = 0, 1, 2, \dots$, and the sequence (r_n) approaches a limit as n becomes infinite. For example, in the Fibonacci sequence defined by

$$(6) \quad F_0 = 1, \quad F_1 = 1, \quad F_{n+2} = F_{n+1} + F_n, \quad n = 0, 1, 2, \dots,$$

the terms of the sequence are given by the Binet formula

$$(7) \quad F_n = \frac{\alpha^n - \beta^n}{\sqrt{5}}, \quad \alpha = \frac{1 + \sqrt{5}}{2}, \quad \beta = \frac{1 - \sqrt{5}}{2}$$

Then

$$r_n = \frac{\alpha^{n+1} - \beta^{n+1}}{\alpha^n - \beta^n} = \frac{\alpha - \beta \left(\frac{\beta}{\alpha}\right)^n}{1 - \left(\frac{\beta}{\alpha}\right)^n}$$

$$= \frac{\alpha + \beta \left(\frac{1}{\alpha^2}\right)^n (-1)^{n+1}}{1 + \left(\frac{1}{\alpha^2}\right)^n (-1)^{n+1}} .$$

But

$$\frac{1}{\alpha^2} = \frac{4}{6 + 2\sqrt{5}} < 1 .$$

Therefore,

$$\lim_{n \rightarrow \infty} \left(\frac{1}{\alpha^2}\right)^n = 0 ,$$

and $\lim_{n \rightarrow \infty} r_n = \alpha$. So the Fibonacci sequence, defined by (6), which is parageometric with $d = 1$, is also almost geometric.

4. We shall call a sequence alternating if $a_{2k} = a$, $a_{2k+1} = b$, $a \neq b$, for all $n = 0, 1, 2, \dots$. An alternating sequence satisfies Eq. (2) with $d = a^2 - b^2$. Then $d = 0$ if and only if $b = -a$. So, an alternating sequence is geometric if and only if $b = -a$, and it is parageometric in all other cases. However, a parageometric alternating sequence is not almost geometric. In fact, if $a = 0$ and $b \neq 0$, then r_n cannot be defined for even n . If $a \neq 0$ and $b = 0$, then r_n cannot be defined for odd n . If neither a nor b is zero, then

$$r_n = \frac{b}{a}$$

for even n , and

$$r_n = \frac{a}{b}$$

for odd n , and

$$\frac{a}{b} \neq \frac{b}{a} ,$$

so, while r_n is defined for all n , it does not approach a limit as n becomes infinite. Hence, every alternating sequence is not almost geometric.

5. We shall call a sequence eventually almost geometric if it is not almost geometric, but the sequence obtained by deleting the first k terms, for some positive integer k , is almost geometric. For example, the sequence $0, 1, 0, 1, 0, a_5, a_6, a_7, \dots$, where $a_{m+5} = F_m$ for $m = 0, 1, 2, \dots$, is parageometric and is not almost geometric, but it is eventually almost geometric. Similarly, the sequence $8, 5, 3, 2, 1, 1, 0, 1, 0, 1, 0, a_{11}, a_{12}, \dots$, where $a_{m+11} = F_m$ for $m = 0, 1, 2, \dots$, is parageometric, is not almost geometric, but it is eventually almost geometric.

We shall call a sequence eventually alternating if it is not alternating, but the sequence obtained by deleting the first k terms, for some positive integer k , is alternating. For example, the sequence $8, 5, 3, 2, 1, 1, a_7, a_8, \dots$, where a_{6+n} is 0 for odd n , and is 1 for even n , is parageometric, is not alternating, but is eventually alternating.

6. We can now state our principal result.

Theorem. If a sequence is not geometric, and no term of the sequence is 0, it is parageometric if and only if it satisfies the recursion relation

$$(8) \quad a_{n+2} = k a_{n+1} + a_n$$

for some rational number k . If $k = 0$, the sequence is alternating, and if $k \neq 0$, the sequence is almost geometric.

A zero term may occur in the sequence only if the absolute value of its characteristic number is a perfect square. If there is a zero term in the sequence, then either the sequence is alternating, or the sequence is eventually alternating, or the sequence is eventually almost geometric. In the first case, the sequence satisfies the recursion relation (8) with $k = 0$. In the second case, for some index $i > 0$, a_0, a_1, \dots, a_i is a fragment of an almost geometric sequence satisfying the recursion relation (8) for some $k \neq 0$, and

$a_{i+1}, a_{i+2}, \dots, a_{i+n}, \dots$ is an alternating sequence satisfying (8) with $k = 0$. In the third case, there are two possibilities: (1) For some index $j > 0$, a_0, a_1, \dots, a_j is a fragment of an alternating sequence satisfying the recursion relation (8) with $k = 0$, and $a_{i+1}, a_{i+2}, \dots, a_{j+n}, \dots$ is an almost geometric sequence satisfying (8) for some $k \neq 0$. (2) For some non-negative index i , a_0, a_1, \dots, a_i is a fragment of an almost geometric sequence satisfying the recursion relation (8) for some $k \neq 0$; for some positive index $j > i$, a_i, a_{i+1}, \dots, a_j is a fragment of an alternating sequence satisfying the recursion relation (8) with $k = 0$; and $a_{j+1}, a_{j+2}, \dots, a_{j+n}, \dots$ is an almost geometric sequence satisfying (8) for some $k \neq 0$. Consequently, a parageometric sequence consists of at most three consecutive segments each of which satisfies the recursion relation (8) for some value of k .

Proof. (1) Let (a_n) be a sequence that is not geometric and with $a_n \neq 0$ for all $n = 0, 1, 2, \dots$. If it is parageometric, we have

$$a_n a_{n+2} - a_{n+1}^2 = (-1)^n d .$$

Then

$$a_{n+1} a_{n+3} - a_{n+2}^2 = (-1)^{n+1} d .$$

Therefore,

$$a_n a_{n+2} - a_{n+1}^2 + a_{n+1} a_{n+3} - a_{n+2}^2 = 0 .$$

Hence

$$a_{n+1}(a_{n+3} - a_{n+1}) = a_{n+2}(a_{n+2} - a_n) .$$

Then, since $a_n \neq 0$ for all n ,

$$\frac{a_{n+3} - a_{n+1}}{a_{n+2}} = \frac{a_{n+2} - a_n}{a_{n+1}} .$$

Thus

$$\frac{a_{n+2} - a_n}{a_{n+1}} = k$$

for some rational constant k and all values of $n = 0, 1, 2, \dots$. Then (a_n) satisfies Eq. (8).

Conversely, suppose the sequence satisfies (8). Then

$$\frac{a_{n+3} - a_{n+1}}{a_{n+2}} = \frac{a_{n+2} - a_n}{a_{n+1}} = k.$$

Consequently,

$$a_{n+1}a_{n+3} - a_{n+2}^2 = -(a_n a_{n+2} - a_{n+1}^2)$$

for all $n = 0, 1, 2, \dots$. If we let $d = a_0 a_2 - a_1^2$, then we have

$$a_n a_{n+2} - a_{n+1}^2 = (-1)^n d.$$

Since the sequence is not geometric, $d \neq 0$, and the sequence is parageometric. If $k = 0$, then $a_{n+2} = a_n$. Since the sequence is not geometric, $a_n \neq a_{n+1}$. Hence it is alternating. The characteristic equation associated with (8) is

$$(9) \quad x^2 - kx - 1 = 0,$$

whose roots are

$$(10) \quad r = \frac{k + \sqrt{k^2 + 4}}{2}, \quad s = \frac{k - \sqrt{k^2 + 4}}{2}.$$

Then, by the theory of linear recurrence relations [3],

$$(11) \quad a_n = ar^n + bs^n,$$

where a and b have the values

$$(12) \quad a = \frac{a_1 - a_0s}{\sqrt{k^2 + 4}}, \quad b = \frac{a_0r - a_1}{\sqrt{k^2 + 4}}.$$

$$d = a_0a_2 - a_1^2 = (a+b)(ar^2 + bs^2) - (ar + bs)^2 = ab(r-s)^2 = ab(k^2 + 4).$$

Since $d \neq 0$, it follows that $a \neq 0$ and $b \neq 0$. If $k > 0$,

$$\left| \frac{s}{r} \right| < 1.$$

If $k < 0$,

$$\left| \frac{r}{s} \right| < 1.$$

$$r_n = \frac{a_{n+1}}{a_n} = \frac{ar^{n+1} + bs^{n+1}}{ar^n + bs^n} = \frac{r + \frac{b}{a}s\left(\frac{s}{r}\right)^n}{1 + \frac{b}{a}\left(\frac{s}{r}\right)^n} = \frac{\frac{a}{b}r\left(\frac{r}{s}\right)^n + s}{\left(\frac{r}{s}\right)^n + 1}.$$

If $k > 0$,

$$\left| \frac{s}{r} \right| < 1,$$

and $\lim_{n \rightarrow \infty} r_n = r$. If $k < 0$,

$$\left| \frac{r}{s} \right| < 1,$$

and $\lim_{n \rightarrow \infty} r_n = s$. Consequently, if $k \neq 0$, the sequence is almost geometric.

(2) If some term $a_k = 0$, then

$$a_k a_{k+2} = a_{k+1}^2 = (-1)^n d ,$$

and hence

$$-a_{k+1}^2 = (-1)^k d .$$

If k is odd, d is a perfect square. If k is even, $-d$ is a perfect square. Since $d \neq 0$, $a_{n+1} \neq 0$. If $k \neq 0$, we have

$$a_{k-1} a_{k+1} - a_k^2 = (-1)^{n-1} d ,$$

or

$$a_{k-1} a_{k+1} = (-1)^{k-1} d .$$

Then

$$a_{k-1} a_{k+1} = a_{k+1}^2 ,$$

and

$$a_{k+1} (a_{k-1} - a_{k+1}) = 0 .$$

Then, since $a_{k+1} \neq 0$, $a_{k-1} = a_{k+1}$. That is, every zero term in the sequence is flanked by a pair of equal non-zero terms. Consequently, if $a_n = a_m = 0$, with $k < m$, then $m - k > 1$. If $a_k = 0$, it is possible that $a_{k+2} = 0$, and $a_{n-2} = 0$ if it exists. Then a_k belongs to a sequence of alternate zero terms

$$a_{k-2\ell} = a_{k-2+2\ell} = \cdots = a_{k-2} = a_k = a_{k+2} = \cdots = a_{k+2m} = 0 ,$$

where $\ell \geq 0$, $2\ell \leq k$, and $m \geq 0$.

$$(a_{k-2l-1}) = a_{k-2l+1} = \cdots = a_{k-1} = a_{k+1} = \cdots = a_{k+2m+1} \neq 0,$$

where the parentheses around the term a_{k-2l-1} indicate that it is included only if it exists. (That is, if $k - 2l \neq 0$.) Then $a_{k-2l-1}, a_{k-2l}, \dots, a_{k+2m+1}$, which is a segment of the sequence (a_n) , is an alternating sequence with zero terms alternating with non-zero terms. Let us extend this alternating sequence as far as we can to both lower and higher indices by including a_{k+2m+2} and a_{k+2m+3} if $a_{k+2m+2} = 0$, and by including a_{k-2l-2} and a_{k-2l-3} if they exist and $a_{k-2l-2} = 0$. Then the following four possibilities arise, depending on whether or not the alternating sequence begins with a_0 on the left and whether or not it terminates on the right:

- I. The alternating sequence begins with a_0 , and does not terminate.
- II. The alternating sequence begins with a_i , $i > 0$, and does not terminate.
- III. The alternating sequence begins with a_0 , and terminates with a_j , $j > 0$.
- IV. The alternating sequence begins with a_i , $i > 0$, and terminates with a_j , $j > i$.

In case I, the sequence (a_n) is an alternating sequence, with either the odd-numbered terms or the even-numbered terms equal to zero. That is, it has the form $0, a, 0, a, 0, a, \dots$ or $a, 0, a, 0, a, 0, \dots$, where $a \neq 0$. Such a sequence satisfies the recursion relation (8) with $k = 0$.

In case II, $a_i \neq 0$, $a_{i+1} = 0$, and $a_{i-1} \neq 0$. The infinite sequence a_i, a_{i+1}, \dots is an alternating sequence of the form $a, 0, a, 0, \dots$. We shall show that for every $n < i$, $a_n \neq 0$.

In case III, $a_j \neq 0$, $a_{j-1} = 0$, and $a_{j+1} \neq 0$. The finite sequence a_0, a_1, \dots, a_j has the form $0, a, 0, a, \dots, 0, a$ or $a, 0, a, 0, \dots, 0, a$. We shall show that for every $n > j$, $a_n \neq 0$.

In case IV, $a_i \neq 0$, $a_{i+1} = 0$, $a_{i-1} \neq 0$, $a_j \neq 0$, $a_{j-1} = 0$, $a_{j+1} \neq 0$. The finite sequence a_i, \dots, a_j has the form $a, 0, a, 0, \dots, 0, a$. We shall show that for every $n < i$ and every $n > j$, $a_n \neq 0$.

Suppose $a_j \neq 0$, $a_{j-1} = 0$, $a_{j+1} \neq 0$ (cases III and IV). We shall call these assumptions Assumptions A. We show that for every $n > j$, $a_n \neq 0$. From

$$a_{j-1} a_{j+1} - a_j^2 = (-1)^{j-1} d$$

we get $a_j^2 = (-1)^j d$.

$$(13) \quad a_j a_{j+2} - a_{j+1}^2 = (-1)^j d = a_j^2.$$

Therefore,

$$a_j (a_{j+2} - a_j) = a_{j+1}^2.$$

We consider first the case where $-a_j > 0$. Then, since $a_{j+1} \neq 0$, $a_{j+2} - a_j > 0$, and $a_{j+2} > a_j > 0$.

$$(14) \quad a_{j+1} a_{j+3} - a_{j+2}^2 = (-1)^{j+1} d = -a_j^2.$$

Therefore,

$$a_{j+1} a_{j+3} = a_{j+2}^2 - a_j^2 > 0.$$

Then a_{j+3} is not zero, and has the same sign as a_{j+1} . From (13) and (14),

$$a_j a_{j+2} - a_{j+1}^2 + a_{j+1} a_{j+3} - a_{j+2}^2 = 0.$$

Therefore,

$$a_{j+2} (a_{j+2} - a_j) = a_{j+1} (a_{j+3} - a_{j+1}).$$

Hence $a_{j+3} - a_{j+1}$ has the same sign as a_{j+1} and a_{j+2} . This, if $a_{j+1} > 0$, $a_{j+3} > a_{j+1}$, and if $a_{j+1} < 0$, $a_{j+3} < a_{j+1}$. In either case, $|a_{j+3}| > |a_{j+1}| > 0$. Now we proceed by induction. Assume that $a_{j+2k} > a_{j+2k-2} > \dots > a_j > 0$, that $a_{j+2n+1}, a_{j+2k+1}, a_{j+2k-3}, \dots, a_{j+1}$ have the same sign, and that

$$|a_{j+2k+1}| > |a_{j+2k-1}| > \dots > |a_{j+1}| > 0.$$

$$(15) \quad a_{j+2k} a_{j+2k+2} - a_{j+2k+1}^2 = (-1)^{j+2k} d = (-1)^j d = a_j^2 .$$

$$(16) \quad a_{j+2k-1} a_{j+2k+1} - a_{j+2k}^2 = (-1)^{j+2k-1} d = -a_j^2 .$$

$$a_{j+2k} a_{j+2k+2} - a_{j+2k+1}^2 + a_{j+2k-1} a_{j+2k+1} - a_{j+2k}^2 = 0 .$$

$$a_{j+2k} (a_{j+2k+2} - a_{j+2k}) = a_{j+2k+1} (a_{j+2k+1} - a_{j+2k-1}) .$$

Then, since a_{j+2k+1} , a_{j+2k-1} , and $a_{j+2k+1} = a_{j+2k-1}$ have the same sign, and $a_{j+2k} > 0$, $a_{j+2k+2} - a_{j+2k} > 0$, and

$$a_{j+2k+2} > a_{j+2k} > \cdots > a_j > 0 .$$

$$(17) \quad a_{j+2k+1} a_{j+2k+3} - a_{j+2k+2}^2 = (-1)^{j+2k+1} d = (-1)^{j+1} d = -a_j^2 .$$

Therefore,

$$a_{j+2k+1} a_{j+2k+3} = a_{j+2k+2}^2 - a_j^2 > 0 .$$

Therefore, a_{j+2k+1} and a_{j+2k+3} have the same sign. From (15) and (17), we get

$$a_{j+2k} a_{j+2k+2} - a_{j+2k+1}^2 + a_{j+2k+1} a_{j+2k+3} - a_{j+2k+2}^2 = 0 .$$

Then

$$a_{j+2k+1} (a_{j+2k+3} - a_{j+2k+1}) = a_{j+2k+2} (a_{j+2k+2} - a_{j+2k}) .$$

Therefore, $a_{j+2n+3} - a_{j+2n+1}$ has the same sign as a_{j+2k+1} . Hence,

$$a_{j+2k+3}, a_{j+2k+1}, \cdots, a_{j+1}$$

have the same sign, and

$$|a_{j+2k+3}| > |a_{j+2k+1}| > \dots > |a_{j+1}| > 0 .$$

If $a_j < 0$, a similar argument shows that

$$a_{j+2k} < a_{j+2k-2} < \dots < a_j < 0, \quad a_{j+2k+1}, \quad a_{j+2k-1}, \quad \dots, \quad a_{j+1}$$

have the same sign, and

$$|a_{j+2k+1}| > |a_{j+2k-1}| > \dots > |a_{j+1}| > 0 .$$

Hence, for every $n > j$, $a_n \neq 0$.

Suppose $i > 0$, $a_i \neq 0$, $a_{i+1} = 0$, $a_{i-1} \neq 0$ (cases II and IV). We shall call these assumptions Assumptions B. Because of the symmetry with respect to i of the indices in the equation

$$a_{i-1} a_{i+1} - a_i^2 = (-1)^{i-1} d = (-1)^{i+1} d ,$$

and because Assumptions A are symmetrical to Assumptions B with respect to i if we write i instead of j in Assumptions A, the argument above proceeds just as well in the direction of decreasing indices. Hence, for every $n < i$, $a_n \neq 0$. Then by (1), in cases II and IV, the sequence a_0, \dots, a_{i-1} satisfies Eq. (8) for some $k \neq 0$, and is a finite segment of an almost geometric sequence; and in cases III and IV, the sequence $a_{j+1}, a_{j+2}, \dots, a_{j+n}, \dots$ satisfies Eq. (8) for some $k \neq 0$, and is an almost geometric sequence. This completes the proof of the theorem.

An example of case IV is given in Section 5. Another example is the sequence

$$58, 24, 10, 4, 2, 0, 2, 0, 2, 0, 2, 8, 34, 144, \dots .$$

In this sequence, the characteristic number $\alpha = 4$. The sequence is made up of three consecutive segments:

- | | |
|------|-----------------------|
| I. | 58, 24, 10, 4; |
| II. | 2, 0, 2, 0, 2, 0, 2; |
| III. | 8, 34, 144, \dots ; |

where Segment I is a fragment of an almost geometric sequence satisfying the recurrence relation $a_{n+2} = -2a_{n+1} + a_n$. Segment II is a fragment of an alternating sequence satisfying the recurrence relation $a_{n+2} = a_n$; Segment III is an almost geometric sequence satisfying the recurrence relation $a_{n+2} = 4a_{n+1} + a_n$.

7. Consider the set of all almost geometric sequences satisfying the recurrence relation (8) with given $k \neq 0$. The associated characteristic equation is (9), where roots are r and s given in (10). If r and s are irrational, the theory of these sequences is analogous to that of rational Fibonacci sequences. For example, just as the set of all rational Fibonacci sequences can be given a field structure isomorphic to the field extension $R(\alpha)$ (see [4]), the set of all rational sequences satisfying the recurrence relation (8) with given $k \neq 0$ such that r is irrational can be given a field structure isomorphic to the field extension $R(r)$. In fact, we may represent each such sequence a_0, a_1, \dots by the ordered pair (a_0, a_1) , since the sequence is fully determined by its first two terms and the recurrence relation (8). Then $(a_0, a_1) \rightarrow a_0 + a_1 r$ is an isomorphism if we define addition and multiplication of sequences by

$$(a_0, a_1) + (b_0, b_1) = (a_0 + b_0, a_1 + b_1).$$

$$(a_0, a_1)(b_0, b_1) = (a_0 b_0 + a_1 b_1, a_0 b_1 + a_1 b_0 + k a_1 b_1).$$

8. If

$$a_1 + \frac{1}{a_2 + \frac{1}{a_3 \dots}}$$

is a continued fraction, the convergents

$$c_n = \frac{p_n}{q_n}$$

for $n = 1, 2, 3, \dots$ are given by $p_0 = 1$, $q_0 = 0$, $p_1 = a_1$, $q_1 = 1$, and $p_n = a_n p_{n-1} + p_{n-2}$, $q_n = a_n q_{n-1} + q_{n-2}$ for $n > 1$ [5]. If we let $a_1 = a_2 = \dots = k \neq 0$, where k is rational, then the equations take the form $p_0 = 1$, $q_0 = 0$, $p_1 = k$, $q_1 = 1$, and $p_n = kp_{n-1} + p_{n-2}$, $q_n = kq_{n-1} + q_{n-2}$ for $n > 1$. Moreover, $q_1 = p_0$, and $q_2 = kq_1 + a_0 = k = p_1$. Hence, for all $n > 0$, $q_n = p_{n-1}$. Then

$$c_n = \frac{p_n}{q_n} = \frac{p_n}{p_{n-1}}$$

for $n > 0$. In this case, $\lim_{n \rightarrow \infty} C_n = r$, where r is a root of $x^2 - kx - 1 = 0$. Moreover, the relation

$$p_{i+2} q_{i+1} - p_{i+1} q_{i+2} = (-1)^i$$

in this case takes the form

$$p_i p_{i+2} - p_{i+1}^2 = (-1)^i = (-1)^i d,$$

where $d = 1$. Hence the sequence $p_1, p_2, \dots, p_n, \dots$ is a parageometric sequence with characteristic number 1, and is also an almost geometric sequence satisfying the recursion relation $p_{n+2} = kp_{n+1} + p_n$. If k is a positive integer, the sequence is related to the golden-type rectangle [6].

9. Every sequence that has a characteristic number d is either geometric (with $d = 0$) or parageometric (with $d \neq 0$). If it is parageometric, it consists of at most three consecutive segments, each of which satisfies the recursion relation (8) for some value of k . If it is a geometric sequence (ar^n) , and $r \neq 0$, it satisfies the recursion relation (8) with $k = r = 1/r$. If $r = 0$, the sequence is $a, 0, 0, \dots$, and is composed of two consecutive segments a and $0, 0, \dots$, each of which trivially satisfies Eq. (8). Hence, every sequence that satisfies Eq. (2) and therefore has a characteristic number

α consists of at most three consecutive segments each of which satisfies Eq. (8) for some value of k .

Let us now consider any sequence satisfying Eq. (8), to see if it also satisfies Eq. (2) and hence has a characteristic number. If the sequence is geometric, it satisfies Eq. (2) with $d = 0$. If the sequence is not geometric, and no term of the sequence is 0, we have already shown in Section 6 that it satisfies Eq. (2) with $d \neq 0$. Suppose now that the sequence is not geometric and contains a term $a_j = 0$. Then the method of proof used in Section 6 breaks down. However, this case can be covered by a general proof that does not require that all terms of the sequence be different from 0.

Let $a_0, a_1, \dots, a_{n-1}, \dots$ be a sequence satisfying Eq. (8) for some value of K . Let $d = a_0 a_2 - a_1^2$. Then, for $n = 0$, the sequence satisfies Eq. (2). We now proceed by induction. Assume

$$a_n a_{n+2} - a_{n+1}^2 = (-1)^n d$$

for some fixed n .

$$\begin{aligned} a_{n+1} a_{n+3} - a_{n+2}^2 &= a_{n+1} (ka_{n+2} + a_{n+1}) - a_{n+2}^2 \\ &= k a_{n+1} a_{n+2} - a_{n+2}^2 + a_{n+1}^2 \\ &= a_{n+2} (ka_{n+1} - a_{n+2}) + a_{n+1}^2 \\ &= a_{n+2} (-a_n) + a_{n+1}^2 = -(a_n a_{n+2} - a_{n+1}^2) \\ &= (-1)^{n+1} d. \end{aligned}$$

Hence, every sequence satisfying Eq. (8) also satisfies Eq. (2), and therefore has a characteristic number.

REFERENCES

1. Brother U. Alfred, "On the Ordering of the Fibonacci Sequence," Fibonacci Quarterly, Vol. 1, No. 4, Dec. 1963, pp. 43-46.
2. Donna B. May, "On a Characterization of the Fibonacci Sequence," Fibonacci Quarterly, Vol. 6, No. 5, Nov. 1968, pp. 11-14.

3. James A. Jeske, "Linear Recurrence Relations, Part 1," Fibonacci Quarterly, Vol. 1, No. 2, April 1963, pp. 69-74.
4. Eugene Levine, "Fibonacci Sequences with Identical Characteristic Values," Fibonacci Quarterly, Vol. 6, No. 5, Nov. 1968, pp. 75-80.
5. C. D. Olds, Continued Fractions, 1963, Random House, pp. 19-28.
6. Joseph A. Raab, "A Generalization of the Connection between the Fibonacci Sequence and Pascal's Triangle," Fibonacci Quarterly, Vol. 1, No. 3, Oct. 1963, pp. 21-31.
7. Charles H. King, "Conjugate Sequences," Fibonacci Quarterly, Vol. 6, No. 1, pp. 46-49.

[Continued from page 119.]

$$\begin{vmatrix}
 3 & -3 & 1 & 0 & \dots \\
 -1 & 3 & -3 & 1 & \dots \\
 0 & -1 & 3 & -3 & \dots \\
 0 & 0 & -1 & 3 & \dots \\
 \dots & \dots & \dots & \dots & \dots
 \end{vmatrix}_n = \frac{1}{2} (n+1)(n+2) .$$

REFERENCES

1. Dov Jarden, Recurring Sequences, Published by Riveon Lematimatika, Jerusalem (Israel), 1966.
2. E. Lucas, "Theorie des Fonctions Numeriques Simplement Periodiques," Amer. J. of Math., 1 (1878), pp. 184-240 and 289-321.
3. Thomas Muir, The Theory of Determinants (4 Vols.), Dover, New York, 1960.
4. R. F. Torretto and J. A. Fuchs, "Generalized Binomial Coefficients," Fibonacci Quarterly, 2 (1964), pp. 296-302.
5. Problem B-13, Fibonacci Quarterly, 1 (1963), No. 2, p. 86; Solution 1 (1963), No. 4, p. 79.
6. Problem B-46, Fibonacci Quarterly 2 (1964), p.)2; Solution 3 (1965), pp. 76-77.